A tightly wound 100 turns coil of radius

1
. The magnitude of

10 em carries a current of 7
the magnetic field at the centre ul'lhr, coil is (Take

¢ permeability of free space as 4x 1077 Slunits):

4
0 AdmT (2) 44T
(3) 44mT (4) 447
Match List-I with List-T1.
List-1 List-I1
(Material) (Susceptibility ( x))
A. Diamagnetic L z=0
B, Ferromagnetic n o=x=-
(. Paramagnetic n. x>>1
D. Non-magnetic IV. O<x <€ (asmall

positive number)

from the options given

Choase the correct
below:

(1) A-IIL B-L C-1, D-IV
(2) A-IV. B-llI, C-II, D-1
(3) A-lL B-III C-1V, D-1
(4) A-ll, B-I, C-11, D-1V

3 A thermodynamic system is taken through the
cycle abeda. The work done by the gas along the
path be is :

(2) —60J7
@ 300

[ Physics : Section-A (Q-No. 110 35) |

4 An unpolarised light beam strikes a glass surface
at ﬂpe\wu:r s angle. Then
M bath the reflected and refracted light will be
completely polarised.
the reflected light will be completely
polarised but the refracted light will be
partially polarised.
the reflected light will be partially polarised,

2)

(3)
(4) the refracted light will be completely
polarised.
= ‘Nﬁ
5 In an ideal transformer, the turns ratio Is ===

5
The ratio F, : Vp is equal to (the symbols carry
their usual meaning) :
(1) 1:1
(3} 12

@ 1:4
@) 2:1

A logic eircuit provides the output ¥ as per the
following truth table :

I

A
0
0
|
1

Sesa=e R

F=T

The gxpression for the output Vis :
g/; @ B

(3) 4B+A (4) AB+4

In a vernier calipers, (N + 1) divisions of vernier
scale coincide with N divisions of main scale. If
I MSD represents 0.1 mm, the vernier constant
(in cm) is :

(1) 100N (@) 10N+1)
gy e e
@) Tow 100(N +1)
| Contd...

8

10

The maximum elongation of a steel wire of | m | 12
length if the elastic limit of steel and its Young's

modulus, respectively, are § - 108 N w2 and \
2x 10" Nm2, s I
(2
H;‘.

(1) A0 mm

B mm \
(3)

4 mm 0.4 mm \

Aherizental force 10 N iSapplied to s block A as \
shown in figure. The mase6f blocks A4 and B are
2 kgand 3 kg, respectively. The blacks slide over |
a frictionless surface. The force exerted by block
A on block B is: .

oc 15 (\l: } 'O

A« /.5 1_3
F=10N ).
e )
G .2
6N J’DIJ ";Drijjj YION (5 - t\‘; N q';
(3) zero @i AN lE:‘_J’..4 &

If the monochromatic sopgee in Young's double

slit gxperiment is replaced by white light, then
there will be a cenfill bright white fringe
surrounded by a few-goloured fringes.

(2) all bright fringes \\'iilll,be of equal width.
(3) interference pnnem&jll disappear.
(4) there will be a central dark fringe surrounded | 14
by a few coloured fringes.
o
(T
oy
The graph which showstthe variation of | ,
O >
and its Kinetic energy, Ei€{ivhere 2 is de Broglie
wavelength of a free parhge) i
1 2
(1) 3@ Y A2
4
0 E To
<
o
1 1
* @} *
T 0
o

T3_English |

In the Tollowing cireuit, the equivalent &
between terminal A and terminal B 18 °

P

4k}

Ey/ﬁpﬂ-'
g

apacitance

1uF

4 uF

—uF
0.5 uF

Lek2)

) 1pF

i

Sokmid.-l

Hm@|II%

ba\enmd 1

In the above diagram, a strong bar magnet is
moving towards solenoid-2 from solenoid-1. The
direction of induced gurrent in solenoid-1 and that
mn solenoid-2, rx‘.p!:ll\t\} are through the
directions:

(48] IB'mdL D

gi/ -I B an(','ﬁ(

BA an(ﬁc' :
BA and CD

12)
- )

Consider the following statements A and B and
identify the correct answer :

A. For a solar-cell. the I-V characteristics lies
in the IV quadrant of the given graph.

B. In a reverse biased pn junction diode, t
current measured in (24) , is due to majori
charge carriersey

(1) Both A and B éré correct.
Both A and B afe incorrect,
colleg e
ATS RC éﬁél mlas
India’s largest Student Review Platform
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Is

point 2 with the angle of incidence 30° as shown
m figure. It travels through the prism parallel 1o
its base KO and emerges along the face 4C. The

refmctive index of the prism 1%

-'-1'
A‘\
= e
J3 /
(A= (N Y
/s /5
(3) i— (4) _“l

Given below are two statements: one is labelled
as Assertion A and the other is labelled as

Reason R.
Assertion A : The potential (#") atany axial point,
aigﬂ_clr's_ulmn_ the centre of the dipole
of dipole moment vector F of magnitude,
4% 10°0C m.is +9x10° 1.

)
=9x107 gp units)

(Take Iney

2P
Reason R : V'=1% 5 . where r is the
dneg r-
distance of any axial point, situated at 2 m from

the centre of the dipole.
In the light of the above statements, choose the

“correct answer from the options given below:
(1) Aistrue but R is false.
(2) A s false but R is true.
(3) Both A and R are true and R is the correct
explanation of A.
(4) Both A and R are true and R is NOT the
carrect explanation of A.
17 The moment of inertia of a thin rod about an axis
= passing through its mid point and perpendicular
to the rod is 2400 g cm2. The length of the 400 g

rod is nearly ;

(1) 20.7cm (2) 72.0cm
(B 85cm (4) 175cm
s g | M
N { /f——&?' o &

A light ray enters through a right angled prismat | 18

4

19

20

I'he terminal voltage of the battery, whose emf is
10 and internal resistance 1 Q. when connected 21 260yt 2TY 4 e
: z g7 X ——ay fil Bl & It
through an external resistance of 4 £3 as shown Is_ th " 23 e =y \
. 1 Lhe nuclear emission stated - 2
in the figure is : number and ulum'h?mn Siated above, the masy
iy : ; 1E number of the producy ¢y
respectively, are ; =
(1) 288 82 (2) 286, 81
(3) 280,81 (4} 286, 80
22 At any it 1t of time ¢, the displacement of dny |
particle is given by 21— 1 (8] upit) tinder the

(1y 81 2y 10F
3y 4F 4y 6 F
Match List T with List I1.

List I List IT
(Spectral Lines of (Wavelengths (nm))
Hydrogen for
transitions from)

Al my=3tom=2 I.. 4102
B. my=4tom=2 1L 434.1
C. m=Stom=2 . 656.3
D my=6tom=2_ V. 486.1

Choose the correct answer from the options given
below :

(1) A=V, B-11I, C-I, D-11

(2) A-l B-lIl, C-II, D-IV

3), A-ILL B-1, C-IV, D-II1

(
l}df’;\-m. BV, C-11, D-1

If'¢ is the velocity of light in free space, the correct
statements about photon among the following
are :
A. The energy of a photon is F = hv.
B.}e velocity of a photon is ¢.
C.  The momentum of a photon, p= L
- ‘/,he i =t
In a photon-electron collision, both total
energy and total momentum are conserved.
Photon possesses positive charge.

D.

E.

/™ Choose the correct answer from the options given

below :
(1) A, CandD only

(2) A, B.DandE only
(3) Aand B only
A, B, C and D only

| Contd...

influence of force of SN The value of
mstantancous power is (in 51 unity:

DT ) 6

(3) 10 (4) 5

The output (¥) of the given logic gate is similar

23
1o the output of an/a :

A
¥
B
OR gate (2) AND gate
(4) NOR gate

WNAND gate

The mass of a planet is 1 _thihat of the carth and
10

on a leve!
\f its Vineat
4, one ©
re any

A whieel of i bullock cart is tolling

road as shown in the figure below: ¥
speed s v in the direction shown- Wh‘L) @
the fullowing aptinns is correct (2 and €7 hee
highest and lowest points on i
respedtivelyy?

P

Q
() Both the pains P and Q move with equal
speed,
) Paint P his zero speed.
3 Point P moyes slower than poim .
() Poimt P moves faster than point 0.
A particle moving with uniform speed in a cireniar

path maintains -
constant \'ch{\;'!l). but varying acceleration.

27

hy

L=} varying velotity and v arying acceleration.
3)  constant velacity, i
(4)  constant '.n.:c-:lcmlw

A thin flat circular dise of radius 4.5 cm is placed
gently over the surface of water, | surface tension
of water is 0.07 Nm !, then the excess force
required 1o take i away from the surface s :
99N

28

24
its diameter is half that of the earth. The Al (1) 1.98 mn 2y
aceeleration due to gravity on that planet is : < (3) 198 mN (4) 198N
(1) 49m s'zl (2) 392m 5;3 + | 29 Inauniform magnetic field of0.049 T.a magnetic
3) 196ms (4) 98ms? 4 needle performs 20 complete oscillations in
. 5 seconds as shown. The moment of inertia of the
25  Given below are two statements - needle is 9.8 « 1070 kg . If the magnitude of
magnetic moment of the needle is x * 1075 Am2:

negative charges,

Statement 11 : Atoms of each element are stable
and emit their characteristic spectrum, —

In the light of the above statements. choose the
most appropriate answer from the options given

below :

(1) Statement | is correct but Statement 11 is

incorrect,

(2) Statement | is incorrect but Statement 11 is

correct,

ugy Both Statement | and Statement 11 are

correct.

(4) Both Statement I and Statement 1l are

incorreet.

T3 _English |

Statement I : Atoms are electrically neutral as
they contain equal number of positive and

then the value of *x" is -

(2) 1280+

(0
(3)

4y 1287

s’
Iwo bodies A and B of same mass undergo

completely inelastic one dimensional collision.
The body A moves with velocity v, while body B

30

25t before collision. The velocity of the
er coll ratio v,® v, is :

g coﬂ’éi“géi‘iumag

£ 2:1
India’s largest Student Review Platform
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g (24 TS [ = _Fil_\n'n : Scction-B {Q. No. 36 1o 50) __:.II
3o The following graph represents the T-V curves of
an ideal gas (where T is the temperature and -

the volume) at three pressures P, Py and By

compared with those of Ghgries’s law represented

If &= Ssin| nr+ T 1 represents the motion of a

Particle exccuting spde harmonic motion, the

Amplitade and time Pepied of motion, respectively, /

are as dotted lines

() Sem, s 5 v T
> 1) 5 m, s i
(3) Sem, 24 L,ég"’ S } + il ,J
32 T 2 2] M . I My
= e L]H.'lefllu.m which brave the same dimensions || (.‘ ,,L‘.'- )
as those of sofid angle are : : o , Y
(1} strain and are L e e
(2)  angular speed and siregs Then the correct relation is:

(3) strain and anglel™ o)
(4)  stress and anglel

H=h-n
B>>p
37 Aparllel plate cnpacimr__is\chargui by connectin 2
it1o a battery through a fesistor: 111 is the current
in the circuit. then in the gap between the plates -
(1) displacement current of magnitude equal to

2}, A=A>AR
() A4>5>n

i —
33 Athin spherical e.hc”i&chnrgud by some source

Upt- pmcmin]. dffrcmll__é_}: between the two points
Cand 7 (in } )shu\w)..i'_r the figure js:

Take = 0% 1%, 1 .
Si.sree TE, 10781 pes) I flows in a direction opposite 1o that of I
e i) (2) displacement current of magnitude greater
oNe 4/;"/\. e & than I flows but can be in any direction.
v = (3) there is no current.(
m ;
| == /"’ﬂz_.-ﬂ b {4) displacement currentiof magnitude equal to
e ' > Vs I flows in the samewdirection as I
w0 nyaJ A 38 The property which is nbt'of an electromagnetic
| o Wwave travelling in free sgce is that :
y (03] ‘
: 0
(1) 05x10° zero 1) ¢ d equal t :
G) 3x10 B 1w 105 (1) they travel with a spee equal to E"E—_o
) | 7 . (2) they originate from charges moving with
34 A bobis whirled in e]%nzomaf plane by means tniteria Epe aa N

(3) they are transverse'in nature,
(4) the energy density in electric field is equal

fo energy density if-magnetic field.

of a string with an i@al speed of @ rpm. The
tension in the String §537. If speed becomes 2a
while keeping the same radius. the tension in the

m"‘f,._,h RS ey ;?5? ,({ pon ) 39 Choose the correct circLE‘bwhich can achieve the
m : = ;
] i k?z} bBr T = bridge balance, 0
4 =
G) T T

d resistance 1009 is
. The first 5 parts are
ile the next 5 parts are
twio combinations are

35 A wire of length *
divided into 10 eq|
connected in series
‘connected in parallel.”

‘again connected in seties. The resistance of this
final combination is:
1) 550 2 600 3)

3) 260

T3 English | 6

(4) 520

40

41

42

43

I the pla ;
Plates of o parallel plate SHPACItOr Conneceq | a4
o's battery are maved close fo each other, then |

A the chame stared in it, increascs l

A iron bar of lengh 1, s magneth
1015 bent al the middle of jts length +h othe
Wen arms make an angle 60° with each "-,--

| magnetic moment of this new magnet i

o mpment M &
1 thnt the

A
e The

B the snergy stored in i, decrenses | M
C s SRpACitinge i TEN50sS, | bt 21 & Ve
. the ratio of L-hnrgs: 10-its potentind L= T | M
the same | TR il 2
ok : . = 1z
o) he praduct of charge ang voltage incresses | 45 AL0 F capacitor is connected ton 210 V30 ¥

Choose the most APPropriate answer from the |
options given below: |

(1) B, Dand Eonly (2)
(3} A.Band E only (1)

A, Band C anly |
A Cand g only ||

= 5
Aforcedefined by F = aut® 4 it acis ona particle \
at a given time +. The factar which isl
dimensionless. if o and [ are constants. is: \
= ottZs

[Ea) 0.1."%

@ ‘%

46

(1) apr
@ B/

modulus, | 47

A metallic bar of Young's
0.5 101 N m2 and coefficient of linear thermal
expansion 10=2°C-!, length | m and area of
cross-section 10~ m is heated from 0°C 10 100°C
without expansion or bending. The compressive
force developed in it is:

(1) 100 = 103N (2) 2=108N

(3) S=10°N (4) 50% 103N

A small telescope has an objective of focal length
140 em and an eye picce of focal length 5.0 em.
The magnifying power of telescope for viewing
adistant object is:
(1 17
(3) 34

(2) 32
4) 28

T3 English |

i ke current in
source as shown in fgure. The peak curt

the ¢ircuit is nearly (m=23.14):

210 ¥, 50 Hz
1y 1204 2y 0354
(3) 0584 4y 093 A

I'wo heaters A and B have power rating of 1 kW
and 2 kK'W, respectively. Those two are first
connected in series and then in parallel to a fixed
Power source. The ratia of power autputs for these
Wo cases is:
Clyr = 2)

]
L6 IS T (4 19

o 1

The velocity (v) — time (1) plat of the motion of a
body is shown below -

—yvimy )

Hs) —

The acceleration (4) ~time (!)Jg.mph that best suits
this motion is ;

3
1 o t{s)= @ tHe)->
o L
legedi
Studbh) ReviberPtatigrm—



Chemistry : Section-A (). No,

48 M the mass of the bob in a simple pendaluim is II 51 March List | with List 11 5
indreased 1o thrice ity origimal miass and its lenpth List I List 11 5 \ renetion eoh
I~ made haif itx original length, then the new time | (Conversion) (Number of i Inl_.-:u:m |"I|§ ‘I“ll\,llum M¥deoxide was yreated with | 59 Activation enery ol any chemis Illu. of i
; LTS M HCT 5ol he of 5ot i ke e dUFIE
period of oscillat : al II saEaday rm'“"":m hydroxide left unre: {C1‘|“i.-|‘\"\ltlll<‘:\‘n e | Il“l-'l'mkrlnll-:.t(;:lul.‘u- of repctant m-ﬂcunl-. d
oscillativn js 5 lmies its original time A1 molof HyO o 0, \. . (). Zers g G 200my | e St 1ol : “”w'l‘“.“_“
period. Then the value of + {e | B 1 malaf Mno; to I 2F () 750 mg (4) 250 mg | (2) rate constant at two difterent G
l Mnt (3) rate constant ot standard @My
1) 243 {2) 4 |I i g 56 Match List T with List i | (4} probability of collision
& [ € 15molofCafrom (1T List1 ey - uinel Callid
= i | muolten CaCl, (T 1 s 0 A compound with o molecular | * pame 15
3) V3 ) (U I g I " ompound) (Shape/geometry) has two tertlary carbons. 1ts IUPAG 1S :
| D, 1 'mal of FeO to Fe;Qq, IM. 3F AL NI [., 1 Trigonal Pyramidal 1y 23-dim@hyibuane
|I l('];m:.»u:ﬂm correct answer from the options Bivgy B. Brk . Square Planar | (2} 2.2-dimeity butane
e foww C. XeF - = (3} n-hexane
49 The minimum enerey re J x Al 1yt LRI 4 5 0 = L Octohedral 3 ane
i ”m“@hn‘l:_: :r =y r-_n:lrrlc-d 10 launch a satellite | (1) A-lL, B C1, DV D. SF, 91"5""4' Bl B Bl oemsal | (1) Z-methylpentane
C S{T frc 1 surface.of earth of o [ 2 i £ = Choose the comast ansl. el ) i hich
and radius £ in 4 circular aghit ar an altitude of ;" 7 :]”' B-1v, ¢, Ba h[__]:)::_b \e earregtanswer from the options given | o1 Spin only” fdgnetic moment is same (0F W
Ll I G f Bttt
24 from the surface of the carth js- :4; ; “} l‘:J!\. C-l, D-_HI_ (1) AL, BIVCL Dot | n\l u“lli“ﬁ'h Wik ios? < e
A-NL B-1v, -1, DN £ e s
(2) AL BNV, Doy ‘ C. Mn2 B et
’ G (Gt . ) (3) A-L B-IV.GL11, D-Iny E. Sc
(N g () A 52 Which reaction is NOT}a redox reaction? (4) AL, B-IV, C-1IL Dy ‘ Choose the\giost appropriate answer from the
(1} _Hy+Cly = 2 HCY aptions given helow:
- 57 The E° g . + (1) Band(
SGm yy (ZGmM 1 BaCly + Nay SO, 5/BaS0, + 2 Nac| po:u?wvft:;; 3::&"17—3‘?3 (M i =OupiG e (& B s nl“:::{\\
e o) 3y 2 - 7 - of Cr/Cr2 or | 2l y
3) 6/ TR (3) Zn+ CiuSO_. ki z'l":‘.;lt)-'t +Cu to change of et (3) B and Dénly
i . (4) 2KCIO; + 1, — 2KIO; + Cl, (1) d*to d configuration | () Aand Eanly
50 A sheet is placed on a horizontal surface in front o 2) 43 5 o
o A force isneeded to: [ 53 1 lecular i :3§ O 6% Armange thefollowing elements in increasing
of a strong magn pole A force is ne i B ntramolecular hydrogen bonding is present in 5 to d* configuration order of Ll\,n..'l.rum_-nuun\ L pe M c 3X
P 5, | A\ (4) ditp gl i 7 ; Oad)
N ol i shacktfiers i 8. magnasic NO, o d* configuration N.'- 0, [a i fam 3
H N Choose theeomreet answer from the options given ;
B. hold the sheet there ifitis non-magnetic. (M 58  Mateh List I with List ], below: na  amy AL A
C , 1O List 1 List If ) OskEsN<€=8§ CISTREE TR S
€. move the sheet away from the pale with -] P z (2) F<O<NeC=<g : L
y M (2) HF ¢ (Process) (Conditions) 5 ;
uniform velocity if it i D A. Isothermal \_E}V “CaN<0O< 5iy =
NO, : - 4l oo L Noheat exchange [E)) “C=D=N<¥F M a &F
D, move the sheet away from the pole with ) @C i process ,
s ; o o 1s i )
uniform velocity ifit is both, non-conducting | B. Tsocharic (L Carried ot m 5 ?:h"‘-‘: one ot the following alcohols reacts
and hon-polar NO, pmces‘s + constant temperajure stantaneously with Lucas reagent?
) HO s aininnc UL Carried out at () oH, - e -ch ol
Choose the correct sraremcm(:.) from the options process ° constant yolume CHy
given below: e T [ ACT .. D. Adiabatic IV, Carried out at
! 54 Febling’s solution *A’ is process Chl,
< 515 onl ) . = ! constant pressure =
(1) A.CandD only w=(1) alkaline solution of sodium potassiup Choose the con-ecl answer from the options given ) CH,—C -0
@ Conh lartrate [R(lChL”L Ssall) below: = é”
2 oty h e
(2) aqueous sodium utratc (1) A-EB=H; CHL DY —
5 ;
(3) Band D only (3) aqueous copper sulphate A2 AL B L G-IV, D47 3 Cbﬂe ed un IaE
. : (3) ALY, B-lIE €11
(4) AandC only (4) alkaline copper sulphate g < l| % 1 esl udent Review Platform
(4) AV, B-ILE-111, g bt a2
T3 English | 8 [ Contd..
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March List Lwith List |1
List I (Reaction)

64

Given below are two statermonts Il 67

Seatement 1z Both [cofnm, ) T and [cor, | ;

complexes arc octahedral but differ in their |

e 1 C:,rll‘*t. I

muagnetic belayiour f A OO 20
r 3
Statement I : [ Cofnp ) i% dinmagnetic / Anh_yn!_/\h-_-.‘
: Sl | (8]
! ' 3 = <
whereas [Cak, [ is parnmagnetic B L:\l[ . I Cro,

In the light of the above stalements, choose the
cerrves answer from the options given below: L
(1) Statement | is true but Statement 11 js false.
(2) Statement | is false but Statement 11 is trie
(3} Bath Statement [ and Statement 11 are true.
(4) Both Statement | and Starement [l are false.

i e

C.j,( HACH,
fj/ COOK

Choose the correct answer from the optiong Sivey
belaw:
(1) A-IN-B-L.C-1l, D-111
(2) A-L BAVT=E D11
LT AV B-L Coati, il
(4)  A-IH, B-L C-li, D-IV

1. KMoy
KOH, A

V. (i) Oy

Given below are two statements: (i) Zni Lo
Statement I : The boiling point of hydrides of
Ciroup 16 elements [ollow the arder
H, (0 = H>Te = HaSe = H, 5,
Seatement IT : On the basis of molecular mass,
H, (1 is expected to have lower boiling point than
the other members of the group but due to the
presence of extensive H-bonding in H,0, it has
higher hoiling point.
m}he light of the above statements, choose the
correct answer from the options given bcflow:
(1) Statement 1 is true but Statement I is false.
(21 Smatement I is false but Starement 1 is true.
* Both Statement | and Statement 11 are true.
(4) Both Statement Tand Statement I are false.

s’

68  Identify the correct reagents that wouyld h”"s

about the following transformation.

O— CHy— CH=CH, —
O—cu!_cnz-cnm
(1) (i) BH,

utch List [ with List 11 !
w K i 1,0,/SH

List 1 List I1
ber  Information provided
Quabliss o2 e | shape of orbital (iii) alk. KMnO,
;, :" A= . size of orbital (i) 0P
C' 7 ! . orientation of 3
: orbital (2) (IJ HzOJ'H'
B, g IV. orientation of spin (i) PCC
. of electron S (3) (i) H,OH"
{ correct s give 2
(hoose the answer from the options g i) €10,
] (4) (i) BH;

(1) A-lil. B-IV, C-1l, D-1

(2) AL B-L C-IV, D-H

(3) A-L B-HL C-1. DIV
) AL B-IV. C-L D-II

o)
(i) H,0,/OH
(iii) PCC
| Contd..
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69
1o
A
B

o3

E;
Choose the co

(1l

(3)

T0

™

M

My
AL

vy

(24 ): B.
Cc.

%
FANE

Chaose the corr;
below: -

b

71

The reapents with which glucose does not react
give the corresponding tesis/products are
Tollen's rgagen|
Sehifls reggent
HT

Match List I withi List 1
List 1

73

BEoplions from the given belaw
[ (2} Eand D
(4} Aand D

} Band E
Boand

List 11

(Number and types of

bond/s between two

carbon atoms)

L. one g-bond and
wo r-bonds

1L two n-bonds

HIL one o-bond

olecule)

ethane 74

ethene f
carbon
molecule, Cy
ethyne >l

IV, one g -bond and
4 one f-bond
tanswer from the options given

AL B-YL C-1L, D1
A-ITL B-IV C-1, D-1I
(3) AL BV, C-IL, D-111
(4) ALV, B-11L, C-11, D-1

75

Among Group !.qlelemenu, which one does NOT
show —2 oxidattip N state?
(1) Te 2y Po

3) O (4) Se

[ o]
0
For the reactionaa =g, K =4x107" . Ata

given time, the\’g]omposiliun of reaction mixture

is: [A]=[B]=[c]=2x10"*Mm.

Then, which of the following is correct?

(1) Reaction has a tendency to go in backward
direction. ")

(2) Reaction 1’% gone to completion in forward
direction, )

(3) Reaction 4t equilibrium.

(4) Reaction hak a tendency to go in forward
direction.

T3 Enolish 1

Which plot of 1r

Avrrhenius equatiofn

In which of the faffowing equil
are NOT equal?
() COL+H0 =

(2) 2BrCl,, == Bryg, + Clagg

ith
Jnsistent i
pis

R

i5 <

ad Ko

ibria, K.p af
Bvriiaie o 0
— OOy T Hage s
B =2
Lo i

0

70

PClg, == PCly,, + Clyg

W Hagg + by == 2 Hiy, },..d-ﬂ

Given below are two statements: )
Statement 1 : Thabniling point of three isomere
pentanes follows the order

f-pentane > isopentane > neopentane
Statement 11 : When branching increases, the
malecule attains 4 Shape of sphere. This results
in smaller surface htea for contact, due to which
the intermolecular-forces between the spherical
molecules are wedle thereby lowering the boiling
point,
In the light of the above statements. choose the
most appropriate answer from the options given
below:
(1) Statement | is correct but Statement 11 is
incorrect, (%
ent | §S incorrect but Statement 11 is

callegedunias
0 Stindararpst ek Rman PRI

micorrect,

(2)

3

(4)
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3
D SectionB ““
emisti =
S wind X comtain 'I (
%0 Match List | with Listll g6 | AcomPobte ntage O
i inereasing | = maining PeEs
List 1 (Complex) List IT (T, of g2 5 5 :I.‘I y oF X 15
- L & Formiiil A
Locaiae L ] | (Givematomicm 4
1 4 : | 5 (2
AL [ Co(NH; ) (NOL ] €1, I Solvate Chooue the cirrect answer from the ophions £ =il (i) ABICI £ £y
below II 3y A:BC2 e wing
150Mer LoV B
ey (1) Li=pe<C=B<=N | L ained 0 the fall
3 | . i Be=N=B < z .t A and B gOEEEE
i | B | Co[NH, ) (SO, )| Br 1L I""]’\ilg(: :’I Ill I=HBe=N :; ; || 7 [he ,"\.,I‘._‘II:_l-ﬂu-u'-‘\"-" e
! e energy of an electron in the ground state | = 3y L : \ reactions, i :
1= 1) for He* jon is —x J. then that for an eleetron [ HOMe e VH, c=H | o+ PCl; 7 3RCH >
i1z ate for Be™ ion in 1 is ' e ; | sel RO+ HEVT B
704 oo || & I‘_,\l’?\“;} [er(eN), | 11 I‘"”’"“"Un } | ROH + PCl5 ¥
(€] I (2 ! |I > e 83 The highest number of helivm atoms isin | 1y POy and POCH;
. ‘o ||I Isomerigy, (1) 4 pofhelium "~ 73 II @y H.PO;and POCHy
r ; 2).2.27109 helium at STP | = PO+
L X e 4) % o e D. [Co(H,¢ 33‘\ ¢ 1l A ‘"-“{"'diﬂa[vr {2)x 7 8 1 (.n helium at 3y POCl; anid Hs 3
L i L A s ’:}\ By, L Ve | oy Ay 4 molofhelivm 2 | 1y pOCIs and H PO,
Tt ! ] s A X X . 4y POUINST
7 I . e 3 1s0Merisn, {4) 4 uofhelium | o
i e of
& In which of the following processes entropy ( Choose the correct answer from the optiong ,; { wssure (1 \ vs concentratic
incregses? S Bivg, | 88 e plot of psmotic pres T oyt line W ith
A Al ; T beicy; 84 The most stable carbocation among the following | (mol L-") for wlution g1 a stratg S which
A hiquid evaporates to vapour. < (1) A, B-IV C-1IL, D11 is: { 5.73 Lbar mol ). The tetnpertiilir
B. Tempers »af a crvsiali; ; x prement 15
ﬁ":\mf;;—(;:[;r: }.;:; crystalline solid lowered (2) A-ll, B-1V. C-1I, D-1 i O——.(":.ll |
- « = =Adg |
- s - =101, C-1V, D-1
C. 2 NaHCO30)—NayCOyy +604,, + HaOp T ATLEILE : |
o IR i e (4) A-L B-IIL, C-IV. D-Il CHy |
D. Cloygy 2 Clyyy o~ \V{ ~ A |
Choose the correct answer from the options given ‘ {
helow: 81 Given below are two statements: \
s CH P | 89 For the given reaction:
A.Cand D (2) CandD Statement I : Aniline does not undergo Friegy) [ /,\J AN \
~ ‘rafts alkylation reaction. (3) TN " oy KMo,
(3) AandC (4) A BandD Crafts alkylation re Hyt 3 CH- ~CHy II \;‘._ :
Statement IT : Aniline cannot be prepared through ) | H {J product)
Gabriel synthesis. CHy I|| 55
79 On heating, some solid substances change from C CH 1
5 : % b7 5 ettt el 4 4 . RN it |
solid to vapour state without passing through In the light ““‘"" above “alf'-mt"lﬂu choose 1y Wl e B Seny L!"ll | o o
liquid state. The technigue used for the correct answer from the options given below- 3 \ =
T 5 'y . Y, N "L -
purification of such solid substances based on the Statement | is correct but Statement [] is | (1) ‘__..—UL CH
above principle is known as false. 85  The Henry's law constant (K;;) values of three \ T
s ipy e 5 Yl 3 o gt T P 4 oh - 4 T
(1) Distillation (2) Statement I is incorrect bul Statement 1] js gusss (A, B, (.‘ WA S _]_15' = fE ||| w N e
= s 35 kbar, respectively. The solubility of these gases \ (2) § G« kX
(3)) Chromatography : in water follow the order: \ =
e stallizatic 3) Both Statement | and Stateme e true ] A (3 ( r—CcHoO
(3) Crystallization (3) B eme atement 1 are true () A>C>B @) A>B>C =
L}ﬁ Sublimation J (4) Both Statement | and Statement 11 are false. (3) B=A>C ) B>C>A
3 English | 12

"'.l_\-— COOH
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0 Giiven befow are two sfalemenls | 93 Given beloware cartnin cations, Using |
alitative anabvsis, mrange them “'.'Iuih‘
i sup number fgm 0 w0 V1 T
Statement | | o Nt ) is a homoleptic | . ¥ w0
| LS D (Catt
complex whergay | Co{NH, | €I, i n [' I :
Choase the compest answer from the o
heternfeptic eomples | Nalcies y iy .
: l (1) E € D B
Stagerment I : Complex | Co| NH, | 1" has only Il Ay E.A.B.C.D
(1) B.ADCE

; f 7+ ) B, C.ABYE
ane kind of ligands hut { CofNHy ) €T, | has

04 Identify the mijor product © formey

: i
following reaction sequence L

mare than ane kind O ligands

In the light of the above statements, choose the |

- . . Nal"N
covrest answer from the ontlonsgivenbalov: | i, ~CH, ~ Gty — 12y
(1) Stmement D is'thue but Statement 11 s false. - . -
: sl H
(2) Sttement | is false bur Statement 11 is true. i Tydrolysis 2 Br, :
- l“‘f\J'ur]

M’ Both Statement [ and Statement [ are true

(4) Both Statement | and Statement I are false.

(1), butanamitles
(sl hromobutanoic acid

(3) propylamine
fa e

! - - (4) butylamine’

91  During the prepacation of Mohr's salt solution 0o

(Ferrous ammonillm sulplate), which of the

following acid is 4éldled to prevent hydrolysis of

Fett ion?

(1) dilute nitric acid

95  The rate u!'tgreacliun quadruples
temperature changes from 27°C tq S?n"
Calculate the energy of activation, )
Given R = 83141 K1 mol! log 4 = 0.6y
(1) 3:80 kd/my
(2) 3804 kl/mp
(3) 38.04 kl/mgl

(4) 380.4 kl/mel
o

96  Consider the fullowing reaction in a sealed vy,

at equilibrium With concentrations of

N, =3.0% 107 M, 0, =42 x 10 M ang

NO = 2.8 % 1073 M.

(2) dilute sulphuri¢ acid
"
(3) dilute hydraﬁﬁ.m‘c acid
“ concentratedsillphuric acid
o
<
97 Identify the correet answer.
(1} Dipole moment of NF; is greater than that
' NH;.

2NO, = Noma +0,
Three canortich] forms can be drawn for () Aw) " 2Ae)

CO:,.Z.” jon. < Ifo.1 I".O' I Lﬁf}lﬂ{g] |=i mkeln i.n a closed ves
what will hcd%[cc of dissociation {a} of N

at equilibrium 2.0

(1) 0.8889

(3) 0.00889 "0 (4

(3) Three m:a@ structures can be drawn for
ML @) 0717

(L0889

(4) BF; has non-zero dipole moment. -

T3_English | 14 | Contd

" 1oy
o e, -
P S R
) - o Ton-A (-
# f tany 1 Section-A (&5 SH T
f [[_ Botafy— e set oF correet tatem=nt® .qnurl‘ui and
: - st : s O
37 T work: done Buring reversible isathermal | KO 18808IH L O Lo ¢ vatlisnertd i %
expansion of one mole of hydrogen gas al 25 i rt(l.nh:c R « o r‘u""nnh-'
from pressure of 20 atmesphere to 10 atmosphere B [;.“L, fowers of waterhly ars :
i . ihe
e pClES-
L St o Ty witer. = = SpCC
(Given 1 = 2,0 eal K- mol 'y | 2 . ¢ Inmostof \\‘.|\|:|-p\\“"\l‘d“;ru‘n welting
‘:i B e L R IAT o polien Erains are pruluulcd ohytes or jongd
L 5
(%) et | He2 aypM D, Pollen grins of some hydroP
R IomE 5 B g ; . 4
(3) 0 calorie # and ribbon like. ollen @rains are
(4) —413.14 calories £ in some hydrophytes, (e B
e water: o
carried passiv inside W jons given

98 Mass in grams of copper deposited by pu
9.6487 A current through a voltmeter conta

helow:

£ hoose the cofrect ans yer from

the opt

{1y AC,DoandE only

lhremcncd

copper sulph 1 for 100 seconds is:

(Giiven : Malar mass of Cu @ 63 g mol!, 2y B.C, Dandl only
1F = 96487 C) (3 C.DandE only
(1) 315 e (2) 0.0315g 4y A, B, C and D only
(3) 3.15¢ (4) 0315¢

102 The type of conse

99 Major products A and B formed in the following
reaction sequence, are '

OH
HLC j
8]

AT
e
(e
0
Hy
OF nd
H
A= 3
g(:mnnuit:s.
Hy
Y e

100 The pair of lanthanoid ions which are diamagnetic

15

(1) Gd** and Eu®!
(2) Pm*' and Sm3*
(3) Ce'*and Yb2*

A Cedt and Eu2t

T3 English |

rvation in which the
species are taken out fram 1
and placed in special setting W
protected and given special
(1) Semi-conservative
(2} Sustainable development
in-gitu conservation

(4) Biodiversity conseryation

al habitat

here they can be

is called:

1eir natur

care
method

103 Innibition of Succinic dehydrogenase enzyme bY
malonate is a classical example of:

Competitive inhibition

(2) Enzyme activation

(3} Cofactor inhibition

(4) Feedback inhibition

104 ldlbl:llif}'_lhe part of the seed from the given figure
which is destined to form root when the seed

collegetlunias

India's largest Student Review Platform
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05 Bullifarm con wisihbe for | 110 Which one af the following is not 8 Criter,
CLy e vithesis in monocats | classification of fungi? ' fiy
A2 P * for storage of sugars l (1) Muode of spore formation
i3) ‘ EVEs i monocols | :
(1) Protecting the plantfeim salt siress | {2} Frulting body : s
Toa Bkl of the foallovow g are reguired for the dark |I h ” (losphibioay ol i
“eaction of phitosynifessd { At Mode of mnrition & J
A Ir ight [ y
¢ ? 'f:_'l"""’""” T How many malecules of ATP and NADER
e | required for every molecule of CO, fixed ) II:‘
i ': -r:l.:.r-u = | Calvin cyole? O Y
bolow '€ STect anywigthom the apticns given | (1) 3 molecules of ATP and. 3 molegy leg -
(¢, B el T Il NADPH
Lrlf, ) i,}':".” only | 2l 3 malecules of ATP and 2 molecyles
)} B, Capg gy 21 NADPI . .
a7 P O (3) 2 molecules of ATP and 3 mofecu!as o
developed J"<'l'ft'lrz:;\‘::lh_l{?"_. cantbitim from fully NADPH - "
i e "l”]i‘ft'!ru.-;m.,,' cells is an example for (4). 2 molecules of ATP and 2 moleeyfag ot
v o (2) Maturatiog NADPH !
(2 “rf?u-uurp:raiu“
| '] Hudul‘i.-n:un;:rum

I12  Theseare regarded as major causes of'biud’ivwmy

108 Hind I alway 5 CUts [IN - G5
point ealled -rl.'l.'|':’rl:i l!, NA Wolccules a4 particular fo3:
of Ehition ERuence and it consists A Overexploitation -
(1) 4bp @ tob B. Co-extinetion N : S
(31 Bbp ) & bp C.  Mutation o
109 Tropical regions show oo . : Y D Habitat loss and fragmentation + 01
HHESt level of species -
rchness because 4 E. Migration
A, Tropical latitudes have ; ; i
* NAVE remained refaively ion:
il \m_rbg od for militons i e Choose the correct aption:
more “m?_ (T P for e e i) A. B and E only N
..a.fn cl.rs.mcam.sn. i ’ et A.Band D only i1
B Tropical environmehis are more seasonale (3) A.Cand D ~
C. Mo salar energy is availap e in tropics.c— 24 A, Cand Donly o
D Constant environmengs promote niche (4) A, B, Cand D oniy \©
specialization, A} <
E  Tropical ema'ronn’: s are constant and 13 - ; D
predictable. Ihe capacity to £enerate a whole plant from any
Choase the comepet -'msu'c;?]-—mn the options given cell of the plant is called:

helow:
(1) A, Band E only

(1) Differentiation

"

(2) ABadDonly &
() A€ Dand E onty 'O
(%) Aand Bonly

(2)  Somatic hybridization '
) Totipotency

(4) Micropropagation

\O

T3 English .
e / 16 | Contd... ‘

114 The equation of Verbulsi-Pearl logistic growih is
i FE=N
of '\!_ K

From this equation, K indicates:
a &t} Carrying capacity

(4} l‘opulmionuun.snt_\-

{3y
(4}

Intrinsic rate of natural increase
Biotic potential

Spindle fibers attach to Kinetochores of
chromosomes during
{13 Anaphase
A3)  Prophase

115

2)
(4

Telophuse
Metaphnse
116 ldentily the type of flowers based on tHE positio
of calyx, corolla and androecium with fespect |
the ovary from the given figures (a) and (h)

by

(1) {(a) Perigynious; (b) Epigynous

(2) {a) Perigynous: (b) Perigynons 4
(3) ~(a) Epigynous: (b) Hypogynous
VM)/(HJ Hypogynous; (b) Epigynous

117 Match List T with List 11

List 1 List 11 |
Rhizopus L. Mushroom
Ustilago 1L Smut fungiis

L Bread mouid
IV Rust fungis

Prccinia

ONwp

Agaricuy .

Choose the correct answer from the aptions given

below:
(1) A-IL B-IL, -1, D-1v

(2) A1V, B, C-11, D41

A3 AL BAIL CIVL DA -
(1) A-L B-1L C-11, D1V

T3 English |

ot 17

bl jomminak
W B

sl
18 o aplant black seed color (A1 e b find 004
over white seed color (hhy. In 9r8s with whizh
the gentype of the biaok sced plant ST
; | on LET
of the Tollowing genorype will yor
(1) Bh 123 BRBL
(3 BB \/g\/, b . 2 Jh
i =¥
| AT 15 aransed
- 2 with ©
1% A pink fowered Snupdragin plant "

fhat 1
wpen pant. W

with a red Nowered Snape B
P A Bothe proge
of phenotype’s isfare expected Al |

(1) Only pink flowered plants

owered plants
(23 Red, Pink as well as whiteglpwered §
(3) Only red flowered plants i
- ywered plams
= U Red Nowered as well as pink llowered p

O

120 Mateh List | with List 11

List 1 List 11

: SRS
A, Two or mare 1 Back cro
alternative

torms of & pene

B. CrossoiF, A Ploidy
progeny with
homazypous
recessive parent
C. Cross of Fy L. Allele

progeny with
any of the parents
'
D. Number of v

chromosome

Test cross

sets i plant
Choose the correct answer from the options giver
below:
) AR BV, €1,y
ii\;’. B-

collagedunia
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A transeription wnitin DNA is defined Primg,
o wmall molecular weight organic ' 125 . i Fiha i,
e three regions in L anchihese aney
wil fownd i living tissues, is an example :Ex;e:r 0 pstredn hivd doson Ktresin onds il
g (1) _Inducer, Repressor, Structural gene
(1) tilveerides 423 Prometor. Structural gene, Terminag,
X Loy kit (1) Repressor, Operator gene, Structurg) fror
(1) Anvino scids (4} Structral gene, Transposons, Operag,, 3
Ls g‘:n
0 Ihowphiipids — e
- 126/ What is the fate of o picce t)l‘[:_'N—’\ CAITYing o, i
- f Wi 1" intercst which is transierred intg an al'l y
123 Mateh st Dwith List 2 i
Lt 1 List 11 A, _~The piece of DNA would be able 1o My
A Cavtriiiim I Hihanol itself independently in the progeny c.,”:h'
oant v ey the organism, uf.
noA S 1 Streptokinase B. It may get integrated into the genome o,
rt.'clph.‘ﬂl.
Sl C. It may multiply and be inherited alo“g o
O Phieiwaderm 1. Butyric acid the host DNA. ity
2adispnarieme D.  The alien piece of DNA is not ap jm‘:&m
EY Kbrigwon v ney S V. Cyelosporin-A " l""'“': \"fﬂl:‘_‘;_"-‘!“m"'- .
z E, It shows ability 1o replicate.
Chowise the correct answer from the options given Y P L
P P Choose the correct answer from the Optiong Sive,
" below: i
Wt AL B OV, D1

]

(1) Band Conly
(3) AandB only

AV O T
(50 AL B CoL Dl
(1) ABANINTTS 1)

(2} AandE only
(4} Dand E only

127 Auxin is used by gardeners (o prepare weed.

5 i
lawns. But no damage is caused to grags as ay =

1Xin
123 o the given figure, which component bas thin fo::m affect mature monocotyledano,,
ot walls and highly thickened inner walis? (2) can help in cell division in grasses,
produce growth,
(3) promotes apical dominance.
(4) p b ion of

leaves only,

128 The cofactor of the enzyme carboxypeptidase i,
(1) Flavin (2) Haem
L3T Zine (4) Niacin

129 The lactose present in the growth medium of
bacteria is transported to the cell by the action of:
u(-f)/ Permease
(2) Polymerase
(3) Beta-galactosidase
(4)  Acetylase

124 Which of the following is an example of
actimoemvphic flower?

n (2) Sesbania

(.
(4) Cassia

o) Dwwra

 Faghich | 18

s but
0 T S . ga appeits ne
B0 Which one of e following can e explained o | 132 Given below are |\~-“‘"‘“'_L:“".i a Abvd
the basix of Mendels Line of Damingaodt ) it 1+ Parcnchy ssels
N Do : \ | collenehyima is dead 1issue ok xylem Lperistic
1 it ol one pair of factors ane is dominan | Statement 11 : Gmnosperit {he charme
and the otligr is recossive. . - | but presence of X¥lem vessels 18 e
\ - e
3 A of anginspenns o e, ehus 3
B, Alieles doWBt show ahy expression and baih | In the Tight of fgsiabove sEMENE B go:
e - 2 & b S
the ehar&lers appear as such in F, correat answer fogm the options:8! S false
Al i (1) Staterment iy rui but Statem™ AL s Ve
ale ] -
y 5 Suatemer e
o Staleinent false but = are W
£ Factors ogglr in pairs in normal diploid giEi alG D LA | Seatement 1A 15
In (3} Both Statement | and St 11 are Vs
plants, 2 . i yagement
: (4)  Both Statement | and St
D, The discrets unit controlling a particular | ts 1
characier jwealled factor, 133 Given below ard b statemen graduatty
B

<cOITiE
Statement | : OFomosomes \‘L:.‘\‘rlr\g
visible under Tight microscops au
stage: . T

- 3 ne 5

Statement 1 : The begining of d..“.h‘l\t.‘:‘ o
recopnized! by idissolution of Synd L
complex:

The expression of only one of the parental |

‘n.'l"h“c”u
characters' 1% found in o monohybrid cross,

Choose the cont

apeis
below:

cLanswer from the options given

ce the
; : Shoose L
(1} B,Cand D only In the light of the above statements, cho

correct answer from the options given bc.‘o\; -'HE
(1) Stalément 134 true but Statement 1 1 ‘:\'.uc

2T Statement 134 false but Statement {115 e

T (3) Both Statemént | and Statement 1 are “u1 A
(4) Both Statenient 1 and Statement 1} are fa1=€

(2) A.B.C,Drand E

\_/((33 AL B oand f_ only
I

4} ALC, D and’E only

134 Match List | with List i1
List1
A, Nucleolus 1

-, \D List 11
131 Given below are two statements:

Site of formation
of glyeolipid
Il Orpanization like

Statement 1: Bt toxins are inseet aroup specific y
and coded by a gelne cry lAc, B. Centriole

the cartwheel
Statement II(TBL toxin exists as inactive €. Leucoplasts 111, Site for active
protoxin in BShringiensis, However. after ribosomal RNA
ingestion by théinsect the inactive Protoxin gets synthesis
converted into detive form due to acidic p of b Goie IV. Forstoring
the insect gut, b= apparatus 4 nutrients

ple] Choose the corrett answer from the options given

L the light of the above statements, choose the below:

correct answer from the aptions given below:

(1) AL B-IV, CAL Doy
n

(2) A-L Bl Can, DAy

Statementils true but Statement 11 is false AL BT v, DA

(2) Slnlumel‘ll: 1{5 false but Statement 11 is true CB -Sﬂ\'eb'wed u n iag
A3 Both Statd mbnt Land Statement 1 are true | 138 ot u?ﬁﬁg&?g SPERFERY Ravals BistdPn
; FOAM 2y TUCN
(4) Both Stateitient | and Statement 11 are false

T (3) GEAC (4) WWF
.‘.I



Hotany 1 Section-1b (Q. No. 136 1o 150)
136 The IINA present in chloroplasi II 140 Match List T with Liscdl "
ey . te st List I List 11
i v, shnghe stranie
| |I A, Frederick | Genetic code
(2) strmide %
i | Girflith
i e s i
' i | B, Francois Jacob Il Semi-conservative
§0)  Cirenlar double stranded BT o af DA
: Jacque :
Monod replication
(37 Which of the following nre fused in somatic ©. Har Gobind 1. Transformation
o invalving fweo vareties of plants? | K Haram
i1} Profoplasts 1y, Meselson & IV, Loc operon
(2 Pallens b I
(31 Callus t“ 1]'::‘ the correct answer from the Optons giyen

i4] Somatic embryos

(38 Identify the correct description ahout the given

fgnire:

(1) Cleistogamous flowers showing autogamy.
(2) Compact inflorescence showing complete

autogamy.
V(}j’ Wind pollinated plant inflorescence showing
flawers with well exposed stamens.

(1) AL B-11L C-1V, D-]
(2) A-IV, B-1, C-1I, D-111
(3) AL B-IL G- DIV

AL, B-1V, C-1, D-11
A

141  Match List [ with List 11

List | List IT
A, GLUT4 I.  Hormone
B. Insulin Il Enzyme
€. Trypsin 1. Intercellular
ground substange
D. Collagen IV. Enables glucose

transport into cells
Choose the correct answer from the options given
below:

(1) A-IL B-III, C-1V, D-I
(2) AL B-1V, C-1, D-IT
AT A-IV, B-L, C-I1, D111
(4) A-L B-IL, C-II, D-IV

142 Given below are two statements:

(4) Water pollinated flawers showing
with mucilaginous covering.

139 Spraying sugarcane crop with which of the
following plant growth regulators, increases the
length of stem, thus, increasing the yield?

(1) Cytokinin
(2} Abscisic acid
{3) Auxin

vt Gibberellin

English | 20

Statement I : In C; plants, some O, binds to
RuBisCO, hence CO), fixation is decreased.
Statement I1 : In C, plants, mesophyll cells show
very little photorespiration while bundle sheath
cells do not show photorespiration.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is true but Statement 11 is false
(2)  Statement | is false but Statement 11 is true
(3) Both Statement [ and Statement 11 are true
(4) Both Statement | and Statement I1 are false

| Contd...

143 Weutify the step in te rearboscy e acid cyele, which | 146

dies notinvolve oxidation of substrte |
(1Y Suceinyl-CoA -+ Suceinie ucid |
(2) Tsocitrate — o-Keloghiaric soid |

3) Malicacid —» Oxaloacetic avid i

>
Ly e ecoiyatem b ihe Met Primory 1T

00 Cheal ¥y e

ALY

UNPPY of first trophie leve) s

eGPy
whan wowtd i the &

\ (iroes Primary Prodaativing of the third
wrophic level of e s

(4} Suceinicacid —» Malie acid |II (LY A0 (Rl m Py g
| x '
) | @y 22E dkcatim 3y
(44 Match List L with List It \ '
List 1 List 11 \ (3} = Ceal mty g
A- Citric acid I, Cytoplasm lll !
eyele 4y ¥ Ckead mty et
B.  Glycolysis I Mitechondrial .
T 147  March List] with List 11
: . matrix List 1 List 11
€. Electron UL Intermembrane A. Rose \ Twisted acstivation
transpart space of B Ve W Peripynons Nowes
system mitochondrin C Cattan UL Drupe v5a
’ . Mongo W, Marging) placenishic
D. Proton IV, Inner 3 AN
- 3 2 Choase the correctanswer from the options gVeD
gradient mitochondrial below
membrane (1) AR
Choose the correct answer from the options given (2) AL BAL CAV, DA
ek 3y AL BAY, €A DA

(13 AL B-IV, C-1, D=1
(2) AV, B, C-1L, DA

(4) Al Bl -C by

148 Mateh List | with List iy

(3) AL B CAL DY List 1 List 1l
AT AL BAL CY, DAl A. Robert May . Species-Area
relationship
. . . B. Alexander von N Long term
LAS5 S mh. afithe fllan ing “Ii“u“:mm.‘ is‘,c“n‘u“ Humboldt eLosystem
regarding the process of replication in E.coli? experiment using
(13 The DMNA dependent DNA polymernse out door plois
catalyses polymerization in 5% 3% as well C. Paul Ehrlich M. Global species
as 3" — 57 direction. diversity at about
(2) The DNA dependent DNA polymerase T million
catalyses polymerization in 5" —3" direction. D. David Tilman IV, Rivelpopper
(3) The DNA dependent DNA polyme " _hS poihests :
e = : Choose the correct answer from the options given
catalyses polymerization in one direction i
R below:
S (1) AL, BAIL CAL DAY
) The DNA dependent RNA polymerase 1BV, G0 DA
catalyses polymerization in one direction, _u¢9\| *gg%d u n i ag
that is 3" 737, AL B-1, C-INGD- 1
India’s largest Student Review Platform
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Zoology : Section-A (. No. 151 1o §

149 Match List D with Live i 151 Match List Iwith List !l

ng.;“o

= i “HEen;

¢ Hormone releasing IUD 111, Lippes EUUp‘

. Implants V. LNG.2¢
Choose the correct answer from the Opticng

| List 1 List 11
Sutd SN | A Typhoid I Fungus
Ty pes of Stamens) (Example) | M. Leishmaniasis I Nematode
| & Rimgworm 1 Protozig
1 Mdnondsl PN Clines ' D, Tilarissis IV,  Hacteria
| A 7
B Dindelphous 1L Pen | Choase the correct nnswer from the OPliong i
| below L
€. Palyadelphouy 1L Lily II RS
D, Epiphyiious IV China-rose | (2) A-l, B-Iv. C-111, -
: 3) A<l B[ C-I1, DAV
Clioase the comect answer from the options given | (A) ek ] T
(1 Bolow L__m/ z\-.al\a. B-H1, C-1, D-11
H (1) AL B-IL CaIy, Dt | 152 Mateh List Dwith List 11 <
= (2) Al Bl ap oo / List 1 . [ Jl\..di“ n
= -medicated f; ?
' A 1?'r~n med i ufuioqdms
1 B. Copper releasimg [UD .
.

( AET ALY, B, €3 Do
) A e /

150  Read the following statements and choose the set T Bivey

I af correct statemenis: “,ﬁ A-IV, B-1,'C:ll, D-1TT
I £ j ¢ 23 AN B-1,C-1V, D=1
In the 5 q}?’f:nrr, yeeae, :3; Al B-L'GLIL, DAIV
A, Asexual reproduction occurs usually by (4) A-BAICCV, DI
biflagellate #oospores, iz Y
B.  Sexualreproduction is by oogamousmethod | 153 Given below are two statements ; |
only, S tl: Thep orab of hyrg,

is not a reliable indicator of virginity.
Statement I1 : The hymen is torn during the firg
coitus only. v
In the light of the above statements. choose 1,
correct answer from the options given belay .
L Statement\Els true but Statement I1 fs faj
(2) StatementTis false but Statement [l js trug
(3) Both Statement I and Statement 1 are (e
(4) Both Statement [ and Statement 11 are fajge

€. Stored food is in the form of carbohydrates
which is either mannitol or laminarin.

Mm
0. The major E'ym:ms found are chlorophyll
4, ¢ and carptenoids and xanthophy!l.

E.  Vegetarive Cells have a cellulosic wall,
usually covered on the outside by gelatinous
coating of algin.

Choose the correct answer from the options given
below: N
(1) A, C.DandE only
2) A B, CandE only
(3) A. B, Cand'Donly
(=]
(4) B, C. Dand Eonly

} English | 22

154 In both sexes off cockroach. a pair of jointeg
filamentous struciires called anal cerci are presey
on: wll

(1) 81 and Q'F.klf;gmcnl

(2) 11" segment

(3) st segment;

AT 0™ segment
| Contd...

157  Which one is the correct product of DNA

e mosy app
LA 5AUGUACCGUUUAUAGGUAAGUS' L «ﬁe
\GGUAAGY :

T3 English | 23 i

i

andl =

1 05 .‘-,1.51““"
pivelt o o b

c are b w Y

wle P
Match List | with List 11 158 Three types of ks e bl 1
Tdentify the corrset mate 3

List 1 List 11 location th humin body

A. Pans I Provides additional |
space for Naurons, |
regulates posiure |

and balance |

B, Hypothalamus 1L Controls ||

el iy || Name of muscle/location
(1) (a) Skeletnl - Biceps
(b} Involuniary - Intestine

anstric secretions

€. Medulla . Connects different
i - (21 Simoath - Heart
et (2) /() Involumary - Mose ap
DD AU(b) Skeletal - Bone
D, Cerebeltum IV, MNeuro secretory () Cardiac - Heart.
( (8) Smoeth - Toes
cells

{4} Skeletal - Leps
LAY Cardiac - Heart.
;;aﬁ {a) Skelets) - Triceps
e (b Smooth - Stomach
(e} Cardiac - Heart.

Choose the correct answer from the options given
below

(1) AL B-lIL €11, DIV

(2} AL B G-, -1V
(3)  A-IL B-1IL, C-1, D-IV
4} AL BV, C-H, DAL

159 Following are the stages of cell division
A.  Gap 2 phase
B. Cytokinesis
C.  Synthesis phase
D.  Karyokinesis
E. Gaplphase, & ¢ P i
Choose the correct sequence of stages from the
options given below :
() BDEAC i ECADB
(3) C-E-D-AB 4y E-B-D-A-C

Which ofthe following is not a steroid hormone?
(1) Progesierone
\(_;,)/ Glucagon

(3) Cortisol

(4} Testosterone

160 Which of the following are Autoimmune
disorders?

dependent RNA polymerass to the given A, Myasthenia gravis e
template? B e T T P Lo =

AE A CO v uadag oAt BI. Rheumatoid arthritis ~
I TACATGGCAAATATCCATTCAS? C. Gout

(1) S’AUGUACCGUUUAUAGGGAAGUS' o Musls Sty .
i E. pSystemic Lupus Erythematosus (SLE)
(2) S’ ATGTACCGTTTATAGGTAAGTS

topriate gnswer drom th

edunia;

‘%13'5‘}9 ‘est tuden ie%ﬁﬁ?k
AL B & D only D AB&Eonl

() SAUGUAAAGUUUAUAGGUAAGUS

o




Match Lésed with Lisaif | 165 Liiven below are some
II Arrange them in correct sequance. (Pagy o
| Recent}
| A Howo fabidiv
| B Mo saplongs
( e Hontir reericleFthafonsis -
3y / 1. Heamn ereotis
A=, B-IV, G D-pI Choose the sorreet sequence of human evolug,
(20 AN Bl CH A [ from the options pien below - b
13 AL qu—-f—Rt-rJ.r | () C-B-D-A (2 A-D-C-B
€40 A-, Bl O Dy || 03 D-A-C-B ‘-Ej” B-A-DC

e Nippers of the Pepguing and Dolphins are . . X
i Folowing are théistages of |m|hw;.y Fag

conduction of an detion potential through the

([54

the examiple of the
.,(ﬁ, Convergent evilution

(2)  Diverzent evalution

166

heart:
A AV bundle

{1)  Adaptive radiation
(4)  Narura! -uci:.é'ﬁrm B, Purkinje fibres;
ﬁ Match List 1 with st 11 - Camaviide _
3 List I List 11 p.  Bundle branches
A. Expiratory I.  Expiratory reserve E. SAnode
capacity Vbiusne - Tidal Choose the correct ﬁ“e.qu»nce of pathway from the
f zC violume + aptions given belo
Eplt"’ - Inspiratony reserve (1) B-D-E-C-A 4~ (2) E-A-D-B-C
v B 4 o valine B/{ ) ECADB ([, (4) AE-C-B-D
B, Functional ‘Ji' 1. Tidal volume +
r!.'s!dtf:;’ G E};pimufy reserve 167 Which of the f'nn._w( z factors are favourable for
capaci g volume I{:
g 2 1 xvhaemoglobin i
¢ Vitaleapacity 'O 11l Tidal volume 1 ‘f"’ r"“““"""o"f e /o alvesli?
Tnspiraiofy reserve (1) Low pCO, an fg} concentration
- volume * {2} Low pC0y, and High temperature
D. dnspicatory . IV. Expiratory reserve (3) High p0, and High pCO,
capacity . volume + Residual High pO, and Lésser H' concentration
g volume v -

Choose the carrectnswer from the options given | 168 Match List [with List 1T :

below o List I 5] List 1
(1) Al B-l, C-IM D-111 A. -l antitrypsin L. Cotton bollworm
(2) A-L B-l1l, =1, D-IV B. CrylAb 1. ADA deficiency
(3) AL B-1V. 48, D-11 €. CrylAc 1. Emphysema
4) AL B-Il. C-1V. D-I D). Enzyme 1V, Corn borer
3 replacement
164 Whichone of the following factors will not affect therapy N
the Hiirdy-Weinberg equilibrium? S:DOS? the correct answer from the options given
{1} O s A1, BV, CLDAI -

V? Constant gepepool (2) AL, B-IV, C-D-
) Genetic recambination (3) A-IL, B-1, C-INCD-11
(4) Genetic drift_) (4) A-IIL B-1, C-ID-1V

i {__l
English | 24 | Contd...

o

170

tiatch 1

bt Lk s 1

Ciiven below nne two statements - one 14 labelled II 17 v
as Assertion A and the other is labelled i | List1 Listt Ldapive W
Respsoi B - A 1, Dpfective 5©
A Cocamne A

Assertion Az FSHpets upon ovarian folheles i I - L yrgery
female and Levdig eglls in male. < | Wit /' n Gcannalils seatbvid
Renson R & Growlok ovarian follicles secréte | Bre (R (} 2 ==
catrogei in female Wifile intorstitial cells secrete | €. Morphine o J/ LU 2 mniferun!
androgen in male himan being: | 13, Marijuang = WV, Papayer ¥ jven

; | : o options &

In the light of the alove sttements, choose the |
correet answer from the oplions given below ||
A ds true but B s flse ||

A is Talse but R 15 true

LA}

A

(45

(3

explanation of &, |
(4) Both A and Riare true but R is MNOT the
correct explanafion of A. \
The following diagram showing restriction sites
in E.cofi cloning vegtor pBR322. Find the role of
X and *¥" genes:

EcoR 1-Cla [ ind 1)

(1) The gene ‘Xills for protein involved in
replication of Plasmid and *1” for resistance
1o antibiotics

(2) Gene X" is responsible for recognition sites
and ¥ is responsible for antibiotic

resistance. o,
The gene "X \p\naponsqbk for resistance to
antibiotics and* 1 for protein involved in
the rtphc,nlmg\_ of Plasmid.

(43 The gene *X\i5 responsible for controllin
the copy numbor of the linked DNA and *}
for protein involved in the replication
Plasmid.

T3 English |

Both A and R.age true and R is the correet -
I )
4y

172 C

s the corvict answe from iy

Chonse

below

AT AN
AT, BIV.C-L B
) AV EANL, G- B
A, B €AY

onsider the following stalements ‘/
A, Annelids are yrue poclomates
B, Porifernans are pse\n\m:nc\uma\\"s \[\_\

C.  Aschelminthes afgfhcoelomates A
omates %

D, Platvhelminthes are pse,udm;m:'l
tions given

Choosg the correct answer from the op

elow
(1) € only 2y Donly
(%) Bonly \5)({\ A onky
173  Given below are two statements -
Statement 1 : I the nephron. {he descending imb
er and

of loop of Henle is unpcnne'\b'lc w wat
permeable to elec\mlytg&. X
Statement 11 : The proximal convoluted tubule
is lined by simple columnar brush border
epithelium and increases the surface area far
reabsorption.
In the light of the abgye statements, choose the
correct answer from the options given below &

Statement | is tru@but Statement 11 s false

0]

& Statement 1 1s fase but Statement 11 1s try

ot h SL'.“T'[.I\'L‘. and Sigremenigll are
| £Q JTRIETE
India’s largest Student Review Platform
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Mtarch fist § with List 11

T

List ! Eist 11
I Adjpeant

ol

TRy

Cartalagiio I s and

(1]

Joints Pectaral gindle
rortmtional
moyvement
Skl dan't

allow uny

. Hinge I

Joinds
mervenient

Kney, helpin

Jocamotion

13 Hall and (A%

socket joints

Choose the correct dnswer from the aptions giver

Below

(1) Al Bl €1 DAV

7 A Bl G-IV, Pull
A-IV, B C-11, -]
A-I, B-1l0, C-1, D=1y

'\:k“

()

(A}
175 Which of the following is not a natural/traditional
contraceptive method?
(1) Lactations! amenorrhea
Vaults
(3) Coitus interruptus
Periodic abstinence

)
176 Maich List Pwith List 1] :
List I List 11
A. Pleurobrachia l.  Mallusca
B Radula / I, Crenophord
€. Stomochord Hi. Osteichthyes
IV.  Hemichordata

D. Air bladder
Choose the correct answer from the options given

below -

(1) A-ll, B-IV, C-1, D-1l1
(20 A-IV, B-AIL C-HL, DAl
(3) A-IV, BII, C-I1L, D-1

(1AL, B, C-1V, D-lIT

nglish | 26

vertabrae, Hmited

179

surch List 1 with List 1
List 11

Contrinke
1 Cilin and m,m__”ﬂ

| 177
List I

| AL Axoneme

| (i}

Cartwheel

| paitern
,' . Crista 1. Chromosome
[ suellite 1¥. Mitachondria
|| hoose the correct answer from the options e
| befow
| (1) A-L BV, C-L D11l
[ £ Al Bl OV, D11
| (1 AV BTl O D
[ (4] A1V, BT, €1 D

II 178  Which of the following statements 5 iNCormecy
Bio-reactors are used (0 produce smal| seale
bacterial cultures.

(2) Bio-reactors have #n agitator sysreq
gen delivery system and foam cony,|

4N OxY
system.

A bip-reactor provides optimal groyg,
conditions for achieving the desired prodyey
Most commonly used bio-reactors are o

stirring 1ype-

Match List I with List 112

List I List IT
(Sub Phases of (Specific
Prophase I) characters)

I.  Synaptonemal

A. Diakinesis

complex formation
I, Completion of
terminalisation of
chiasmata
Chromosomes
look like thin
threads
Appearance of
recombination
nodules

B. Pachytene

€. Zygotene 1L

D, Leptotene

Choose the correct answer from the options given

below :

) A=l B-IV. C-1, D-1IT
(2) A-IV. B-II, C-I1, D-I
(3) A-IV, B-11, C-111, D-1
4) A-l B-I1, C-1V, D-1l1

| Contd...

nid b

- [T plast
5 for
Match List | with List 1} stanths aid
152 5 List 11 | F S qucing plast <
Liscl i | Fumar indv 4amid
A, Commun cold, 1 Plasmodinn \ kA {opendent s
B, Hadmozoin aedf: lypnoid | o remperture inSEl .
¢ Widaltest— [l RhinoVirses l ) e, l\!'_\hl“‘d
0. Alleriy . —2 0% Dust mites | o pumon inhibt
Choose the correet answer from the options SVEt l & dent plas™ 1o
jﬂow : I| (47 Tumar indepe
1} A-LL B-1, C-11, DUV of
E 2 - pt C
(2 A-IV. B-11. C-111, -1 1 At B cm“ponb
(1) AL B-IY, C-111, D1 fe Tollowji 15108
|| 184 Which of the

18

OMatch List I with ListIT:

() AL BIIL C-IL DAY

Given below arc two sfafements : one is labelled
as Assertion A and the other is labelled as
Reason R -

Assertion A : Breast-feeding during initial period
of infant growth is recommended by doctors for
bringing a healthy baby.

Reason R : Colostrum contains several antibodies
ntial to develop resi for the

R
new born baby.
In the Light of the above statements, choose the
mast appropriate ansmvlq"i'mm the options given
helow e
(1} A iscorrect but R:iis' not correct.
(Z) A is not correct but R is correct.
Both A and R are correct and R is the correct
explanation of A0

(4) Both A and R arelcarrect but R is NOT the

correct explanation'of A

Fallopian wibe?

()

(1)

4y

Jnfund!

bulum =2

Ampulla =~
-

i « - 5
LU terine fundus

@/

1sthmus «

185 Match List Lwith Laistdh s

List1 List T
n SOME

A. Down'ssyndrome L 11 chromo!
1. X chromosome

B. a-Thalassemia

List 1 ., Listll
A, Preraphyilum . Hagfish
B. Myxine 1. Saw fish
C. Pristis L. Angel fish
D. Exocoetis V. Flying fish

Choose the correct answer from the options given

below : <

(1) A-IV, B-L, C-11, B-11

(2) AL B-1L, C-L DHV

(3) A1, B-L, C-11, DA

(4)  A-IL, B-1, C-11, DAV

T3 _English |

C. B-Thalassemia

1L 215 chromosome
—
16" chromosome

D, Klinefeller’s .

syndrome

Choose the correct answer from the options g

below :

,\)i/ AL, BV, G- DAL -

2y AV, B, G- B

3)  A-L Bl GBSV

cotlegedunias

India’s largest Student Review Platform \
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186
chordates
A Pharynx is perforated by gill slits. 34
B Notochord is absent. «~—
€. Central pervous system is dorsal,
B, Heart is dorsal if present.

. Post anal tail is absent. _

Choose the most appropriate answer from the
optons given below :
M%“- D&Eonly .
.-/ ~
FB.C & Donly.

(4) =*B&DB-only

(@ Match List I with List 11 :
~ ListI List I1

A. Mesozoic Era 1. Lower invertebrates
B. Proterozoic Era  11.  Fish & Amphibia
C. Cenozoic Era HI. Birds & Reptiles
D. Paleozoic Era IV. Mammals

Choose the correct answer from the options given
belaw :

(1) A-L B-Il, C-IV, D-111
(2) A-lIL, B-I, C-IV, D-II
(3) A-IL B-l, C-IlI, D-IV
() A-HL B-I, C-lI, D-IV

188 Given below are two statements :

Statement I : The cerebral hemispheres are
connected by perve tract known as corpus
callosum.
Statement II : The brain stem consists of the
medulla oblongata, pons and cerebrum..—
In the light of the above statements. choose the
most appropriate answer from the options given
below :
(1) Statement I is correct but Statement 11 is
incorrect.

(2) Statement | is incorrect but Statement II is

H.S(Wmm
4 Both Statement [ and Statement I1 are correct.

(4) Both Statement | and Statement Il are
incorrect.

English | 28

| .'inulug_\ : Section-B (Q, No. 186 to 200)

I'he following are the statements about non-

]

189

respect 10 spermatogenesis.

Identify the correct aption (A), (B). (C), () ,

GnRH

LH
|

(B)

4
Androgens

1

Formation of spermatids

spermatogenesis,

spermatogenesis,

(A)
L
(&)
i
Factors
d
(D)

(1) FSH, Sertoli cells, Leydig cells,

(2) [ICSH, Leydig cells, Sertoli cells,

(3) FSH, Leydig cells. Sertoli cells,

spermiogenesis

(4) ICSH, Interstitial cells, Leydig cells,

spermiogenesis.

List I
A. RNA polymerase [I1
B. Termination of
transcriptfon’l_““*-\
C. Splicing of Exonss
D. TATA bu?(

190 Match List I with List IT :

>

L

11

211,
IV,

List 1T
snRNPs

Promotor
Rho factor
SnRNAs, tRNA

Choose the correct answer from the options given

below :

(1) A-ll, B-1V, C-1, D-]]

(3) A-IL B-IV, C-1, D-1I
(4) A-llI, B-IL, C-IV, D-I

m_/ A-IV, B-1I1, C-I, D-11-

| Contd...

Vith

191 Match List | with List 11 -

List1 List 11

A, Exophthalmic 1

Excess secretion of

Given below are two statements . h,m\"no'lll

F LU L 3
Statement 1 2 Bone marrow jsthe m,‘t}  phocytes
‘.wg.un where all blood cells in¢ Juding

are produced. and thy mus

goiter cortisol, moon face & = arrow nt
L OO Statement Il : 1\‘_‘1‘1‘ Dpne . for the developme
hyperglycemia provide micro eny e i
; 3 WCYLES.
B. Acromegaly 1. Hypo-secretion and maturation of T-lymphoey e o
ER ;
=i sestatements, © B
of thyroid hormone Inthe light aftheabove it gwu“-m_'.o

and stunted growth.

€. Cushing’s 111

syndrome

protruding eye balls,

D! Cretinism
.

of growth hormone.

Choose the correct answer from the options given

belaw
(1) AL B-IV, CAL DL,
,f%ﬁ-m. B-1V, C-1, D-11

IV. Excessive secretion

appropriate answer From th

g 1 is
1 is carrect bul giatement

ati (1) Statement
Hyper secretion e i
: ] Sratemen
ey (2) Statement | 15 incorrect but State

correct. “:c‘
ATECOT |

Both Statement Land Statement arcc
s e | are

(4) Both Statement 1 and Sratement |1

incorrect.

194  Match List | with List 1l related to digestive s¥ Sy
of cockroach.

' (3) At Bt CAnL DAV List 1 List 11
(4) ATV B G, DA A. Thestructuresused gl Gizzard
for storing of food.&
192 Match List T with List 11 : B. Ringof 6-8 blind : ,ﬁ“- G‘as.lric
List 1 List 11 tubules at junction of / } Caeca
A. Unicellular glandular 1. Salivary glands foregut and midgut. i
epithelium C. Ringof 100-150 yello\\‘;% 1ii. Malpighian
B. Compound epithelium 11, Pancreas coloured thin tubules
C. Multicellular 1. Goblet cells of filaments at junction of
glandular epithelium alimentary canal midgut and hindgut.
D. Endocrine glandular IV, Moist surface of D. The structures used ) w. Crop
epithelium buccal cavity for grinding the food.

Choose the correct answer from the options given

below :

M;DJ(B-IV. C-1, D-1l

(2) AL, B-1, C-1V, D11

(3) A-IL, B-1, C-11I, DIV

(4) A-IV, B-1IL, C-1, DA
T3_English |

i
1=

Choose the correct answer from the options given
below :

(1) A-IV, B-111, C-1L D-L
(2) AL B-IL CHY, D-1
A-1V, B-1l, C-1IL, DA
L,
- L4
toftégédunias
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ment given bélow

hoose the correct staie
Sing juxta moduliary nephron
o of Henle of juyta medullary pephron ||
1 ante mecfulia |

wllary nEphrons onmumber the

195

ropar
I
.

o)

Jipxta m
cortrcnl peplirois
wated inthe |

yista mechillary ngphirons are i
|

2

(3}
olumines of Berting
() Renal corpsale of juxta me dullary nephron
lies in the outer postion of the rennl medulln

|

Match List Dwith List [Pe

)
196
! List 1 List 11
/ Ywive 1 Heart museles arc
S i : i 199
electrically sitent.

B. (RS comples HALDepolarisation of
ventricles.

1. Depolarisation of

¢ Twave !
".,-f:.'rr'ﬂ.
| p. F-Pgap IVesRepolarisation of
E Chventricles,
. o
Choose the carmect wlslg from the options given
(Vo]

below @
(1 .d-H_BxﬂL—C-J.—-B-fV

@) ALV, B-11. C-l DE!”

() Al BulLC-IY
AL, B-IL C-TV, B

wf o
L
197 Asper ABO b!md grquping system, the blood
sroup of ather is B, giather is A” and child is
(0 Their respective genblype can be ?
7 BN i s vl
B BB :
MBS B8

200

C
p. PR/ IA
E @B IAD
Choose the most appfgpria:c answer from the

aptions given below : (O
(1) C&Booly 2} D&E only

GF Al (4) Bonly
| English |

|' 198

g R I ——t———————————————
N

Giiven below are (wo stalements ;
Stateme Ciause’s competitive exelusion
principle state
competing for differenf TESOUITES Cannol exisg
indefinitely

Statement 1 : According 1o Gause’s principfe
duriuj_'L-unuwnliuu_ll;uiuM'iurn|Irlmu||‘,.|‘-m“m'

I3
tes that twa glosely related species

wre limiting,

This may be true if resouret:
In the light of rl.nc above'statements, choose ihe
correct answer from the options given below

Statement | s true but Statement 11 js |-<'il._a|_-

(n
) Statament 1 is false but Statement 11 is trye
Statement 11 are toye

(3) Both Statement T it
Both Statement 1 ad Statement Il are )5

(4}
Regarding catalytic cycle of an enzyme actigy
select the correct sequepfial steps
A, Substrate enzyme complex formation,

Free enzyme ready to bind with anothey

substrate. 1
C. Release of productss
.  Chemical bonds ofithe substrate broken,
E. ‘Substrate binding focactive site.
“from the opticns aiven

below :
(1) B.A.C.D.E
{2) EED,C,B.A
3) ELADCB
(4) ‘A, E,B.D.C

. (=
Given below are two stil}qnwnls 2
Statement I : Mitochondsia and chloroplasts are
und organelles,

both double membrane
Statement I : Inner membrane of mitochondria

is relatively less permeable. as compared to
chloroplast,

Inthe light ofthe above stafements, choose the most
appropriate answer fromtheoptions given below:
(1) Statement | is correct but Statement IT is
incorrect.

(2) Statement | is incgrrect but Statement 11 is

~correct.

Laf@{ Both Statement L andiStatement |1 are correct.

(4) Both Statement I and Statement I1 are
incorrect.
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